### **Bid Results**

### **Bidder Details**

Vendor Name SNZ Contractors Inc.

Address 8583 Irvine center Dr #224

Irvine, California 92618

United States

Respondee SNZ Contractors

Respondee Title CEO

Phone 949-649-4119

Email projects@snzconinc.com

Vendor Type OSB License # 1097225

**CADIR** 

#### Bid Detail

Bid Format Electronic

**Submitted** 07/06/2023 11:17 AM (PDT)

Delivery Method Bid Responsive

Bid Status Submitted Confirmation # 337323

# Respondee Comment

### **Buyer Comment**

### **Attachments**

File Title File Name File Type

Bid Documents.pdf Bid Documents.pdf Proposal Documents

Signed Bid Bond.pdf Signed Bid Bond.pdf Bid Bond

Page 2 of 4 Printed 07/19/2023

# Subcontractors

No Subcontractors

### Line Items

#### Discount Terms No Discount

| Item<br># | Item<br>Code | Туре | Item Description  | UOM | QTY  | Unit Price | Line Total  | Response | Comment |
|-----------|--------------|------|---|-----|------|------------|-------------|----------|---------|
| GENERAL   |              |      |   |     |      |            | \$15,500.00 |          |         |
| 1         |              |      | MOBILIZATION/DEMOBILIZATION   | LS  | 1    | \$5,000.00 | \$5,000.00  | Yes      |         |
| 2         |              |      | CLEARING, GRUBBING, AND MISCELLANEOUS REMOVALS  | LS  | 1    | \$8,000.00 | \$8,000.00  | Yes      |         |
| 3         |              |      | BEST MANAGEMENT PRACTICE WPCP AND NPDES REQUIREMENTS PER BID DOCUMENT   | LS  | 1    | \$2,500.00 | \$2,500.00  | Yes      |         |
| CIVIL-    | CIVIL-STREET |      |   |     |      |            |             |          |         |
| 4         |              |      | REMOVE EXISTING PCC SIDEWALK AND CURB RAMP  | SF  | 120  | \$5.00     | \$600.00    | Yes      |         |
| 5         |              |      | CONSTRUCT 4" PCC SIDEWALK OVER 12" MINIMUM 90% COMPACTED NATIVE SUBGRADE PER CITY OF FONTANA STD. PLAN NO. 1006.                      | SF  | 1250 | \$15.00    | \$18,750.00 | Yes      |         |
| 6         |              |      | REMOVE EXISTING AND CONSTRUCT 4" A.C. DRIVEWAY TRANSITION OVER 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE.                             | SF  | 160  | \$30.00    | \$4,800.00  | Yes      |         |
| 7         |              |      | REMOVE EXISTING AND CONSTRUCT NEW 6" PCC DRIVEWAY TRANSITION OVER 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE.                          | SF  | 700  | \$25.00    | \$17,500.00 | Yes      |         |
| 8         |              |      | CONSTRUCT 6" PCC RESIDENTIAL DRIVEWAY RAMP OVER 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE PER CITY OF FONTANA STD. PLAN NO. 1001      | SF  | 450  | \$30.00    | \$13,500.00 | Yes      |         |
| 9         |              |      | CONSTRUCT 6.5" A.C. PAVEMENT OVER 4' OF 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE PER CITY OF FONTANA STD. PLAN NO. 1008.             | TON | 20   | \$275.00   | \$5,500.00  | Yes      |         |
| 10        |              |      | REMOVE BLOCK WALL AND MAKE REPAIRS TO MATCH EXISTING FACING.  | LF  | 6    | \$500.00   | \$3,000.00  | Yes      |         |
| 11        |              |      | CONSTRUCT 8" CURB INTEGRAL WITH SPANDREL. MATCH EXISTING CURB WITH NEW CURB RAMP.   | LF  | 35   | \$2.00     | \$70.00     | Yes      |         |
| 12        |              |      | REMOVE EXISTING SPANDREL AND CONSTRUCT 8" PCC SPANDREL OVER 12" MINIMUM COMPACTED NATIVE GRADE  | SF  | 180  | \$30.00    | \$5,400.00  | Yes      |         |
| 13        |              |      | CONSTRUCT CURB RAMP OVER 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE PER CITY OF FONTANA STD. NO. 1003.                                 | EA  | 1    | \$7,500.00 | \$7,500.00  | Yes      |         |
| 14        |              |      | REMOVE AND REPLACE EXISTING 8" CURB AND GUTTER OVER 12" MINIMUM 95% COMPACTED NATIVE SUBGRADE PER CITY OF FONTANA STD. PLAN NO. 1000. | LF  | 90   | \$25.00    | \$2,250.00  | Yes      |         |
| 15        |              |      | REMOVE/MODIFY EXISTING HARDSCAPE/LANDSCAPE AND IRRIGATION AS NEEDED (MATCH EXISTING)  | LS  | 1    | \$5,000.00 | \$5,000.00  | Yes      |         |
| 16        |              |      | CONSTRUCT 2" A.C. OVERLAY.  | TON | 23   | \$275.00   | \$6,325.00  | Yes      |         |
| 17        |              |      | GRIND EXISTING A.C. PAVEMENT 2" MINIMUM.  | SF  | 1600 | \$4.00     | \$6,400.00  | Yes      |         |
| 18        |              |      | ADJUST EXISTING WATER METER AND PULLBOX TO GRADE.   | EA  | 4    | \$500.00   | \$2,000.00  | Yes      |         |
| 19        |              |      | REMOVE AND REPLACE EXISTING MAILBOX AND POST.   | EA  | 2    | \$500.00   | \$1,000.00  | Yes      |         |

Page 4 of 4

Printed 07/19/2023

### Line Item Subtotals

| Section Title | Line Total   |
|---------------|--------------|
| GENERAL       | \$15,500.00  |
| CIVIL-STREET  | \$99,595.00  |
| Grand Total   | \$115,095.00 |